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CRC – III EXPLANATION 
 

76. Brindha secures 85%, 86% and 84% marks in the test papers with 100, 150 and 200 
respectively as maximum marks. The percentage of his aggregate is 
a. 84.88%  b. 72.61%  c. 64.26%  d. 61.44% 
gpUe;jh vd;gth; 100> 150 kw;Wk; 200-I mjpfgl;r kjpg;ngz;fshff; nfhz;l 
Njh;tpy; KiwNa 85%> 86% kw;Wk; 84% ngw;whh; vdpy; mthpd; nkhj;j Njh;r;rp 
rjtPjk; vd;d? 
a. 84.88%  b. 72.61%  c. 64.26%  d. 61.44% 

 
Explanation: 

 
85 86 84

100 85 150 129 200 168
100 100 100

85 129 168
100

100 150 200

382
100 84.88%

450

 =  =  =

+ +
 

+ +

  =
 

 

77. H.C.F. of  x 2 + 5x -6, x2  + 4x -12, x 2 + 8x + 12 

 a. x-2  b. x + 2       c. x + 3  d. x + 6 
x2 + 5x – 6, x2 + 4x – 12, x2 + 8x + 12 Mfpatw;wpd; kP.ngh.t ahJ?  

a. x – 2  b. x + 2  c. x + 2  d. x + 6 
 

Explanation: 
 

x² + 5x - 6  
x² + 6x - x - 6 
x(x+6) -1(x+6) 
(x - 1)(x + 6)  

x² + 4x -12  
x² + 6x - 2x - 12 
x(x + 6) -2(x + 6) 
(x - 2)(x + 6)  
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x² + 8x + 12.  
x² + 6x + 2x + 12 
x(x+6)+2(x+6) 
(x+2)(x+6)  

 
Thus the HCF = (x+6) 
 

78. If V is the volume of the cone of radius r and V1 is the volume of the cone when the 
radius is double then 
a. V = 4V1  b. V = 2V1  c. V1 = 2V  d. V1 = 4V 

$k;gpd; Muk; ‘r’ vd;why; mjd; fd msT ‘V’ MFk; $k;gpd; Muj;ij ,ul;bj;jhy; 
mjd; fdmsT V1 MFk;. mt;thnwd;why;. 

a. V = 4V1  b. V = 2V1  c. V1 = 2V  d. V1 = 4V 
 
Explanation: 

 

21
V= πr h

3
 

 If radius is doubled the volume of cone is V1. 

 

( )
2

1

2

1

1

1
V = π 2r h

3

1
V =4× πr h

3

V =4×V

 

 

79. 8 
1

2
 metres is what percent of 11 

1

3
 metres? 

a. 60%  b. 72%  c. 75%  d. 68% 

8 
1

2
 kPl;lh; vd;gJ 11 

1

3
 kPl;lhpy; vj;jid rjtPjk;? 

a. 60%  b. 72%  c. 75%  d. 68% 
 

Explanation: 
 

8 =
1 17

2 2
  11 =

1 34

3 3
 

Required Percentage = 
17 3

100 75%
2 34
  =  
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80. If area of a quadrilateral having one diagonal 7 cm is 63 cm2 and if length of 
perpendiculars drawn from the opposite vertices to that diagonals are 5 cm and x 
cm then value of x is 
a. 9 cm   b. 23 cm   c. 35 cm       d. 13 cm 
63 nr.kP2 gug;gsTs;s xU ehw;fuj;jpd; xU %iytpl;lk; 7 nr.kP. NkYk; vjph; 
cr;rpfspypUe;J mk;%iytpl;lj;jpw;F tiuag;gLk; Fj;Jf;NfhLfspd; ePsq;fs; 5 
nr.kP kw;Wk; x nr.kP vdpy; x-d; kjpg;G 
a. 9 nr.kP  b. 23 nr.kP   c. 35 nr.kP   d. 13 nr.kP 

 
Explanation: 

 
1

Area of quadrilateral = diagonal× (sum of offsets)
2

1
63 7 (5 )

2

5 18

13

x

x

x



=   +

+ =

=

 

 
81. Find the next term: 

1, 5, 11, 19, 29 … 
a. 41   b. 43   c. 42   d. 40 
mLj;J tUk; vz; ahJ? 
1> 5> 11> 19> 29> …. 
a. 41   b. 43   c.43   d. 40 
 
Explanation: 
 

1 + 4 = 5,  5 + 6 = 11 11 + 8 = 19  19 + 10 = 29   
 Next Term: 29 + 12 = 41 
 

82. How many ways can you answer five TRUE or FALSE questions? 
a. 10   b. 5   c. 25   d. 32 
rhpah? jtwh? $Wf vd 5 Nfs;tpfs; ,Uf;fpd;wd. ,e;j 5 Nfs;tpfSf;Fk; 
nkhj;jkhf vj;jid tpjkhd gjpy;fs; juKbAk;? 
a. 10   b. 5   c. 25   d. 32 
 
Explanation: 

 
52 32=  

 
83. In a hollow cylinder, the sum of the external and internal radii is 14 cm and the 

width is 4 cm. If its height is 20 cm, the volume of the material in it is  
a. 5600  cm3  b. 1120  cm3  c. 56  cm3   d. 3600  cm3 
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Xh; cs;sPlw;w cUisapd; ntspg;Gw kw;Wk; cl;Gw Muq;fspd; $Ljy; 14 nr.kP 
kw;Wk; mjd; jbkd; 4 nr.kP MFk;. cUisapd; cauk; 20 nr.kP vdpy;> mjid 
cUthf;fg; gad;gl;l nghUspd; fd msT 
a. 5600  cm3  b. 1120  cm3  c. 56  cm3   d. 3600  cm3 

 
Explanation: 

 
Given,  

R + r = 14 cm 
       Width (R – r) = 4 cm 
          h = 20 cm 

Volume of hollow cylinder = 2 2( )h R r −  cu. units 

           = ( )( )h R r R r − +  

           =  (20)(14)(4) 
           = 1120  cm3 

 
84. Mr. X borrowed Rs.5,000 – on 7th of June 2006 and returned it on 19th August 2006.  

Find the amount he paid, if the interest is calculated at 8% per annum  
a. `5140   b. `5080  c. ` 5210  d. `5280 
jpU X vd;gth; 7.6.2006 md;W ` 5>000I fldhfg; ngw;W mij 19.8.2006 md;W 
jpUk;g nrYj;jpdhh; Mz;bw;F 8% tPjk; tl;b fzf;fplg;gl;lhy; mth; nrYj;jpa 
njhif vt;tsT? 
a. `5140   b. `5080  c. ` 5210  d. `5280 

 
Explanation: 

 
Interest calculated form 7th June to 18th august.  
  i.e. (30 – 6) + 31 = 18 = 73 days  

   I = 
100

Pnr
 

     = 
5000 73 8

.80
100 365

Rs
 

=


 

                Amount = 5000 + 80 = Rs. 5080 
 

85. Two pipes can fill a tank in 10 hours and 12 hours respectively while a third pipe 
empties the full tank in 20 hours. If all the three pipes operate simultaneously, in 
how much time the tank will be filled?  
a. 7 hours  b. 8 hours   c. 7 hours 30 min  d. 8 hours 30 min  
,uz;L Foha;fs; xU njhl;bia KiwNa 10 kzp kw;Wk; 12 kzp Neuj;jpy; epug;g 
$bait.NkYk; %d;whtJ xU Foha; MdJ KO njhl;biaAk; 20 kzp Neuj;jpy; 
fhyp nra;af; $baJ.%d;W Foha;fSk; xNu Neuj;jpy; nray;gl;lhy; njhl;b 
KOtJk; epuk;g vt;tsT Neuk; MFk;?  
a. 7 kzp  b. 8 kzp   c. 7 kzp 30 epkp  d. 8 kzp 30epkp 
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Explanation: 
 

1 1 1

10 12 12

6 5 3 2

60 15

+ −

+ −
= =

 

The tank will be full in 
15

2
hours = 7 hrs 30 min 

 
86. How many dots lie opposite 2 dots?  

 
a. 1   b. 5  c. 6   d. 3    
,uz;L Gs;spfs; cs;s Kfj;jpw;F vjpNu cs;s Kfj;jpy; vj;jid Gs;spfs; 
cs;sd?  

 
a. 1   b. 5  c. 6   d. 3     
 
Explanation: 

 
6 2 4 
6 5 1 

Opposite to 2 is 5. 
 
 

87. Find the LCM of x4 – 1, x2 - 2x +1 
a. (x +1)(x - 1)2  b. (x2 + 1) c. (x2 + 1)(x +1)(x - 1) d. (x2 + 1)(x +1)(x - 1)2 

x4 – 1, x2 - 2x +1 -,d; kP.ngh.k fhz;f 
a. (x +1)(x - 1)2  b. (x2 + 1) c. (x2 + 1)(x +1)(x - 1) d. (x2 + 1)(x +1)(x - 1)2 
 
Explanation: 
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88. The Income of A, B, C are in the ratio 9 : 10 : 11 and their spending are the ratio 3 : 

4 : 5. If A saves 
1

3
 of his income, then the savings as A, B, and C are in the ratio of.   

a. 1 : 2 : 3  b. 3  : 2 : 1   c. 3 : 4 : 5  d. 3 : 3 : 2 
A, B, C apd; tUkhdq;fspd; tpfpjk; 9 : 10 : 11 kw;Wk; mth;fspd; nryTfspd; 

tpfpjk; 3 : 4 : 5. A jd;Dila tUkhdj;jpy; 
1

3
 gFjpia Nrkpf;fpd;whh;. vdpy; A, B 

kw;Wk; C tpw;fhd Nrkpg;G tpfpjj;ij fhz;f.  
a. 1 : 2 : 3  b. 3  : 2 : 1   c. 3 : 4 : 5  d. 3 : 3 : 2 
 
Explanation: 
 

Let A, B, C’s incomes be 9x, 10x, 11x and their expenditure be 3y, 4y, 5y.  

If A saves 
1

3
 of his income,  

i.e. 
1

3
(9x) = 9x – 3y 

 3x = 9x – 3y  

 y = 2x  

The ratio of savings of A, B, C are  

  (9x – 3y) : (10x – 4y) : (11x – 5y)  

  (9x – 6x) : (10x – 8x) : (11x – 10x) 

   3 : 2 : 1  

89. A sum of money triples itself at 8% per annum over a certain time.  The time taken 
is 
a. 20 years           b. 22 years     c. 25 years    d. 30 years. 
xU Fwpg;gpl;l mryhdJ Mz;Lf;F 8% tl;b tPjj;jpy; %d;W klq;fhFtjw;F 
gpbf;Fk; fhyk;  
a. 20 years           b. 22 years     c. 25 years    d. 30 years. 

 
Explanation: 

A = 3P at 8% per annum n =?  

  3P = P + 
8

100

P n 
 

   3P = P(1+ 
8

100

n
) 

   2 = 
8

100

n
 

  n = 25 years  
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90. One year ago a man was 8 times as old as his son. Now his age is equal to the 
square of his son's age. Find the present age of the son.  
a. 9   b. 8   c. 7   d. 6 
xU tUlj;jpw;F Kd;G je;ijapd; tajhdJ kfdpd; taijg; Nghy 8 klq;fhFk;. 
jw;Nghija je;ijapd; taJ kfDila tajpd; th;f;fj;jpw;Fr; rkk; vdpy; kfdpd; 
jw;Nghija taJ vd;d?  
a. 9   b. 8   c. 7   d. 6 
Explanation: 

 
Let x be the age of the son one year ago, then the age of the man was 8x. 
The present age of the son is (x+1) and that of the man is (8x+1). Then, 

 
8x+1 = (x+1)2 
8x+1 = x2+1+2x 
x2 = 6x 
x = 0, 6 
As the age cannot be 0, so the value of x is 6. 
So, present age of son =(x+1)=7 years and  
Present age of man = (8x+1) = 49 years 

 
91. Mohammed sells a shirt costing Rs. 300 at 20 % loss to Salim. Salim sells it at a 

profit of 10%. At what price did Salim sell the shirt? 
a. Rs. 264  b. Rs. 270    c. Rs. 280   d. Rs. 330 
KfkJ & 300 mlf;ftpiy nfhz;l rl;ilia 20% e~;lj;jpw;F  ryPkpw;F 
tpw;whh;. ryPk; mij 10% yhgj;jpw;F tpw;why;> ryPk; vd;d  tpiyf;F rl;ilia 
tpw;whh;? 
a. Rs. 264  b. Rs. 270    c. Rs. 280   d. Rs. 330 
 
Explanation: 

 
CP = Rs. 300 

  Mohammed sells with 20% loss 

   i.e., 
80

300
100

  = 240 

         New CP = Rs. 240 
  Salim sells with 10% profit 

   i.e., 
110

240
100

  = Rs. 264 

 
 

92. Find the value of 
75983 75983 45983 45983

300000

 − 
 

a. 45983  b. 121966  c. 120669  d. 121196 
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kjpg;G fhz;f: 
75983 75983 45983 45983

30000

 − 
 

a. 45983  b. 121966  c. 120669  d. 121196 
 
Explanation: 

 
 

2 2( ) ( )( )
( )

( ) ( )

a b a b a b
a b

a b a b

− + −
= = +

− −
where a= 75983,  b = 45983 

  = (75983 + 45983) = 121966 

 
93. If in a certain code BEAUTIFUL is coded as 573041208, BUTTER as 504479, how is 

FUTURE coded in that code?  
a. 204079              b. 704092  c. 201497             d. 204097 

BEAUTIFUL vd;gjid 573041208 vd;Wk; BUTTER vd;gjid 504479 vd;w 
vz;fshy; vOjpdhy; FUTURE vd;gjid vt;thW vOjyhk;? 
a. 204079              b. 704092  c. 201497             d. 204097 
 
Explanation: 

 
B = 5 and T = 4 in the two words. 
Thus, for future we realise that F = 2, U = 0, T = 4, R = 9 and E = 7 
Hence the code for FUTURE = 204097.  

 
94. The HCF of two numbers is 2 and their LCM is 154. If the difference between the 

number is 8 then the sum is 
a. 26   b. 36   c. 46   d. 56 
,uz;L vz;fspd; kP.ngh.t 2 kw;Wk; mtw;wpd; kP.ngh.k 154. vz;fSf;F ,ilNa 
cs;s tpj;jpahrk; 8 vdpy; $l;Lj;njhifia fhz;f 
a. 26   b. 36   c. 46   d. 56 

 
Explanation: 

 
Product of two numbers =LCM × HCF 
154 × 2=x × y 
x – y = 8  
y (8+y)=308 
y² + 8y −308 = 0 
 (y+22)(y−14)=0 
so, y = 14  
x = 22 
x + y = 22 + 14 = 36 
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95. Calculate the compound interest on Rs. 9,000 in 2 years when the rate of interest 
for successive years are 10% and 12% respectively. 
a. Rs.1,188  b. Rs.2,088  c. Rs.4,396  d. Rs.2,596 
xU njhiff;F mLj;jLj;j Mz;LfSf;F KiwNa 10% kw;Wk; 12% tl;b 

tPjj;jpy; &. 9,000 f;F 2 Mz;LfSf;F njhlh; tl;b vt;tsT?  
a. Rs.1,188  b. Rs.2,088  c. Rs.4,396  d. Rs.2,596 

 
Explanation: 

 
P = 9000  a = 10%  b = 12%  

  Then, 

   A = P 1 1
100 100

a b   
+ +   

   
..... 

   A = 9000  
10 12

1 1
100 100

   
+ +   

   
 

       = 9000 × 
11 28

10 25
  

                    = Rs. 11088  
  C.I = A – P = Rs. 2088  

 
96. The mean of 25 observations is 36. The mean of first 13 observations is 32 and that 

of last 13 observations is 39. What is the value of 13th observation?  
a. 20    b. 23    c. 32    d. 40  
25 KbTfspd; ruhrhp 36 MFk;. Kjy; 13 KbTfspd; ruhrhp 32 kw;Wk; filrp 13 
KbTfspd; ruhrhp 39 vdpy; 13tJ vz;zpd; kjpg;G vd;d?  
a. 20    b. 23    c. 32    d. 40 
 
Explanation: 

 
Mean of 25 observations =36 
Sum of 25 observations = 36×25=900 
Mean of first 13 observations= 32 
Sum of first 13 observations = 32×13=416 
Mean of Last 13 observation=40 
Sum of Last 13 observations = 40×13 = 520 
Sum of first13 observation+ Sum of last 13 observation − 13th 
observation= Total sum of 25 observations 416 + 520 − 13th observation = 900 
13th observation = 36 

 

97. Find the number of terms in the A.P. 3, 6, 9, 12,…, 111.  
a. 34    b. 35   c. 36    d. 37 
3, 6, 9, 12,…, 111 vd;w $l;Lnjhlu;tupirapy; cs;s cWg;Gfspd; vz;zpf;ifia 
fhz;f. 
a. 34    b. 35   c. 36    d. 37 
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Explanation: 
 

First term a = 3 
Common difference d = 6 – 3 = 3  
Last term l = 111 

1

111 3
1 37

3

l a
n

d

n

− 
= + 
 

− 
= + = 
 

 

Thus the A.P contain 37 terms 
 

98. A can do a piece of work in 10 days and B can do it in 15 days. How much does 
each of them get if they finish the work and earn Rs. 1,500? 
a. Rs. 600, Rs. 900   b. Rs. 700, Rs. 800 
c. Rs. 800, Rs. 700   d. Rs. 900, Rs. 600   

A xU Ntiyia 10 ehl;fspYk;> B mij 15 ehl;fspYk; nra;J Kbg;gh;. ,UtUk; 
Nrh;e;J mt;Ntiyiar; nra;J &. 1>500 I <l;bdhy;> mj;njhifia vt;thW 
gphpj;Jf; nfhs;th;? 
a. &. 600, &. 900   b. &. 700, &. 800 
c. &. 800, &. 700    d. &. 900, &. 600  

 
Explanation: 

 
A – 10 days  B – 15 days 
L.C.M of (10, 15) = 30 

A’s efficiency = 
30

10
 = 3 

B’s efficiency = 
30

12
 = 2 

3 : 2, Total = 5x = 1500 
      x = 300 

A’s share = 3300 = Rs. 900 
B’s share = 2300 = Rs. 600 

 
99. The value of (13 + 23 + …. + 153) – (1 + 2 + …. + 15) 

a. 14400  b. 14200  c. 14280  d. 14520 
(13 + 23 + …. + 153) – (1 + 2 + …. + 15) d; kjpg;G 
a. 14400  b. 14200  c. 14280  d. 14520 
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Explanation: 
 

( ) ( )

( ) ( )

2

2

2

1 1

2 2

15 16 15 16

2 2

120 120

14400 120

14280

n n n n+ +   
= −   
   

    
= −   
   

= −

= −

=

 

 
100. At what rate percent of compound interest per annum will Rs. 640 amount to Rs. 

774.40 in 2 years, when interest is being compounded annually? 
a. 11.5%   b. 12 %  c. 8%   d. 10% 
&.640 mryhdJ 2 Mz;Lfspy; ve;j $l;L tl;b tpfpjj;jpy; &. 774.40 Mf khWk; 
$l;Ltl;b MdJ tUlj;jpw;F xU Kiw fzf;fplg;gLfpwJ. 
a. 11.5%   b. 12 %  c. 8%   d. 10% 
 
Explanation: 

 
P = 640, A = 774.40, n = 2 yrs  

  Then,  

  A = P 1
100

n
r 

+ 
 

 

  774.40 = 640 
2

1
100

r 
+ 

 
 

   
2

774.40
1

100 640

r 
+ = 

 
 

   1 1.1
100

r
+ =  

         r = 10%  
 


